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Monte Caro example: Estimating the area of four different regions using Netlogo turfles. Each turtle located to a randem x {its xcor or xcoordinate) and

a randam y {ifs ycor of yeoordinate).
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Computational Madeling and Simulation - December 4th. 2011

Centerofleftelrcle -28 0
Center of right cieele 260

Width ofturtle werld £2 units
Height of turlle wortd 33 units §
44 +0+44=89
15+0+16=233

"012

Click Braw Clrcles and Grid to reset.
Click MonteCarlo to add 100 turtles.

powered by Net{ago

view/downioad model file: Decemberdth niogo

count sfars / countlurlles *%

o e

Arsa nfthe Cows regionis:
Area ofthe Cars reglons is;

1026

countigows [ colrt turlles: -

it ows:
o

Ared ofthi Stars region is:

Area of the plants raglons is:

ot Gt Toodnt Wnileg 1
b

count Gars

M

;26

ﬂ oboap Ag piamod

1. Whatis the estimated area of the left circle?

2. Whatis the estimated area of the right circle?

3. What is the estimated area between the circles?

4. What is the estimated area to the left of the left circle?

5. Whatis the estimated area to the right of the right circle?

6. What do all 5 of these areas add up to?




